

Research Article

On discrete orthogonal U -Bernoulli Korobov-type polynomials

Dedicated to Professor Paolo Emilio Ricci, on occasion of his 80th birthday, with respect and friendship.

WILLIAM RAMÍREZ, URIELES ALEJANDRO, AND CLEMENTE CESARANO*

ABSTRACT. The primary objective of this paper is to introduce and examine the new class of discrete orthogonal polynomials called U -Bernoulli Korobov-type polynomials. Furthermore, we derive essential recurrence relations and explicit representations for this polynomial class. Most of the results are proven through the utilization of generating function methods. Lastly, we place particular emphasis on investigating the orthogonality relation associated with these polynomials.

Keywords: Bernoulli polynomials, U -Bernoulli Korobov, discrete orthogonal polynomials.

2020 Mathematics Subject Classification: 11B68, 11B83, 11B39, 05A19.

1. INTRODUCTION

The study of discrete Appell polynomials is significant in mathematics due to their special properties and wide range of applications. Analogous to continuous Appell polynomials, they feature a discrete shift operator as their primary differential operator. Moreover, they are closely related to orthogonal polynomials, such as Hermite and Chebyshev polynomials, which are vital in areas like approximation theory and quantum mechanics. Together, these polynomials contribute to the development of special functions that are applied across diverse fields, including mathematics, physics, engineering, and statistics (see, [7, 10, 17]).

In this context, let $f : \mathbb{Z} \rightarrow \mathbb{R}$ be any function of the natural numbers, and consider the discrete operator $\Delta f(x) = f(x+1) - f(x)$. This operator plays a crucial role in the definition and analysis of discrete Appell polynomials, further highlighting their importance in both theoretical and applied mathematics.

A discrete Appell sequence $\{p_n(x)\}_{n=0}^{\infty}$ is a sequence of polynomials such that (see, [6]):

$$\Delta p_k(x) = p_k(x+1) - p_k(x) = k p_{k-1}(x), \quad k \geq 1.$$

It is known that a Taylor series expansion can define Appell sequences (see, [1]):

$$(1.1) \quad A(z)e^{xz} = \sum_{n=0}^{\infty} P_n(x) \frac{z^n}{n!},$$

where $A(z)$ is a function analytic at $z = 0$ with $A(0) \neq 0$; similarly, discrete Appell sequences can be defined by a Taylor generating expansion

Received: 19.06.2024; Accepted: 12.10.2024; Published Online: 16.12.2024

*Corresponding author: Clemente Cesarano; c.cesarano@uninettunouniversity.net

DOI: 10.33205/cma.1502670

$$(1.2) \quad A(z)(1+z)^x = \sum_{n=0}^{\infty} p_n(x) \frac{z^n}{n!},$$

where $A(z)$ is a function analytic at $z = 0$ with $A(0) \neq 0$.

There is a substantial body of mathematical literature devoted to studying the families of Appell sequences. Typical examples include the trivial case $\{x^k\}_{k=0}^{\infty}$, whose generating function is given by (1.1) with $A(z) = 1$, and the Bernoulli polynomials, which were used by Euler in 1740 to sum $\sum_{n=1}^{\infty} 1/n^{2k}$. Their generating function is (1.1) with $A(z) = \frac{z}{e^z - 1}$.

In the case of discrete Appell sequences, the trivial case, obtained from (1.2) with $A(t) = 1$, is the family $\{x^{\underline{k}}\}_{k=0}^{\infty}$ where

$$x^{\underline{k}} = x(x-1) \cdots (x-k+1) = \prod_{j=0}^{k-1} (x-j)$$

is the falling factorial (various notations have been used for these polynomials; here we follow [11] and [8, p. 47]). The discrete counterpart to the Bernoulli polynomials is the so-called Bernoulli polynomials of the second kind (see [3]), denoted by $b_k(x)$, which were independently introduced by Jordan [9] and Rey Pastor [16] in 1929. These polynomials, also known as Rey Pastor polynomials (see, [2]), are now defined by a generating function as in (1.1) via

$$\frac{z}{\log(1+z)}(1+z)^x = \sum_{k=0}^{\infty} b_k(x) \frac{z^k}{k!}.$$

We consider the discrete orthonormal polynomials $\{p(x)\}_{n \geq 0}$ corresponding to a positive measure with respect to a discrete weight $\omega(k)$ and satisfies the conditions

$$(1.3) \quad \sum_{k=0}^{\infty} p_n(k)p_m(k)\omega(k) = \delta_{m,n},$$

where $\delta_{m,n}$ is the Kronecker delta (cf., [14, pp. 586]).

The moments μ_n of the discrete weight $\omega(k)$ in (1.3) are given by

$$\mu_n = \sum_{k=0}^{\infty} k^n \omega(k), \quad n \geq 0.$$

In the special case when the discrete weight has the special form

$$\omega(k) = c(k)z^k, \quad z > 0,$$

which is the case for the Charlier polynomials $C_n(k; z)$ and the Meixner polynomials $M_n(k; \alpha; z)$ (see, [5, 13]), then

$$\mu_n(z) = \mu_n = \sum_{k=0}^{\infty} k^n c(k)z^k.$$

Considering the aforementioned context, the main objective of this work is to define and study the discrete U -Bernoulli Korobov-type polynomial. We study the algebraic and differential properties associated with this particular family of polynomials. Furthermore, we introduce an orthogonality relation that satisfies these polynomials.

2. NOTATION AND BACKGROUND

Throughout this paper, let $\mathbb{N}, \mathbb{N}_0, \mathbb{Z}, \mathbb{R}$, and \mathbb{C} denote, respectively, the set of all natural numbers, the set of all non-negative integers, the set of all integers, the set of all real numbers, and the set of all complex numbers.

The Korobov polynomials $K_n(x; \lambda)$ of the first kind are given by the generating function (cf., [12])

$$\frac{\lambda z}{(1+z)^\lambda - 1} (1+z)^x = \sum_{n=0}^{\infty} K_n(x; \lambda) \frac{z^n}{n!}.$$

When $x = 0$, $K_n(\lambda) = K_n(0, \lambda)$ are called the Korobov number.

In [4], L. Carlitz considered the degenerate Bernoulli polynomials which are given by the generating function to be

$$(2.4) \quad \frac{z}{(1+\lambda z)^{\frac{1}{\lambda}} - 1} (1+\lambda z)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \mathcal{B}_n(x; \lambda) \frac{z^n}{n!}.$$

From (2.4), we have $\lim_{\lambda \rightarrow 0} \mathcal{B}_n(x; \lambda) = B_n(x)$, $(n \geq 0)$.

Additionally, for $n \in \mathbb{N}_0$, we defined the new family U -Bernoulli polynomials $M_n(x)$ of degree n in the variable x by the power series expansion at 0 of the following generating function (see, [15]):

$$f(x; z) = \frac{z}{e^{-z} - 1} e^{-xz} = \sum_{n=0}^{\infty} M_n(x) \frac{z^n}{n!}, \quad |z| < 2\pi.$$

We have for the first few U -Bernoulli polynomials $M_n(x)$, that

$$\begin{aligned} M_0(x) &= -1, & M_3(x) &= x^3 - \frac{3}{2}x^2 + \frac{1}{2}x, \\ M_1(x) &= x - \frac{1}{2}, & M_4(x) &= -x^4 + 2x^3 - x^2 + \frac{1}{30}, \\ M_2(x) &= -x^2 + x - \frac{1}{6}, & M_5(x) &= x^5 - \frac{5}{2}x^4 + \frac{5}{3}x^3 - \frac{1}{6}x. \end{aligned}$$

When $x = 0$ in (2), the U -Bernoulli numbers are defined by the generating function

$$f(z) = \frac{z}{e^{-z} - 1} = \sum_{n=0}^{\infty} M_n \frac{z^n}{n!}, \quad |z| < 2\pi.$$

Some of these numbers are

$$M_0 = -1; \quad M_1 = -\frac{1}{2}; \quad M_2 = -\frac{1}{6}; \quad M_3 = 0; \quad M_4 = \frac{1}{30}; \quad M_5 = 0.$$

3. U -BERNOULLI KOROBOV-TYPE DISCRETE POLYNOMIALS

In this section, we introduce the U -Bernoulli Korobov-type discrete polynomials and derive several key results for these polynomials.

Definition 3.1. *The new family of U -Bernoulli Korobov-type discrete polynomials $\mathcal{P}_n(x)$ of degree n in $x \in \mathbb{N}$ are defined by the generating function*

$$(3.5) \quad \left(\frac{z}{e^{-z} - 1} \right) (1+z)^x = \sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!}, \quad |z| < 2\pi.$$

The first six U -Bernoulli Korobov-type discrete polynomials $\mathcal{P}_n(x)$, are

$$\begin{aligned}\mathcal{P}_0(x) &= -1, & \mathcal{P}_3(x) &= -x^3 + \frac{3}{2}x^2 - x, \\ \mathcal{P}_1(x) &= -x - \frac{1}{2}, & \mathcal{P}_4(x) &= -x^4 + 4x^3 - 4x^2 + 3x + \frac{1}{30}, \\ \mathcal{P}_2(x) &= -x^2 - \frac{1}{6}, & \mathcal{P}_5(x) &= -x^5 + \frac{15}{2}x^4 - \frac{65}{3}x^3 + \frac{55}{2}x^2 - \frac{33}{6}x.\end{aligned}$$

For $x = 0$ in (3.5) the U -Bernoulli Korobov-type discrete numbers $\mathcal{P}_n(0)$ are defined by the generating function

$$(3.6) \quad \frac{z}{e^{-z} - 1} = \sum_{n=0}^{\infty} \mathcal{P}_n \frac{z^n}{n!}, \quad |z| < 2\pi.$$

Some of these numbers are

$$\mathcal{P}_0 = -1; \quad \mathcal{P}_1 = -\frac{1}{2}; \quad \mathcal{P}_2 = -\frac{1}{6}; \quad \mathcal{P}_3 = 0; \quad \mathcal{P}_4 = \frac{1}{30}; \quad \mathcal{P}_5 = 0.$$

A consequence of (3.5) and (3.6) is the following proposition, which highlights several properties satisfied by this family of polynomials.

Proposition 3.1. *The U -Bernoulli Korobov-type discrete polynomials in the variable x , they satisfy the following relations*

$$\begin{aligned}\text{(i)} \quad & \mathcal{P}_n(x+y) = \sum_{k=0}^n \binom{n}{k} (y)_k \mathcal{P}_{n-k}(x), \\ \text{(ii)} \quad & \mathcal{P}_n(x) = \sum_{k=0}^{n-1} n \binom{n-1}{k} (x)_k + \sum_{k=0}^n \binom{n}{k} \mathcal{P}_k(x), \\ \text{(iii)} \quad & \sum_{k=0}^n \binom{n}{k} \mathcal{P}_k(x+y) \mathcal{P}_{n-k} = \sum_{k=0}^n \binom{n}{k} \mathcal{P}_{n-k}(x) \mathcal{P}_k(y), \\ \text{(iv)} \quad & \mathcal{P}_n(x) = \mathcal{P}_n + \sum_{k=0}^{n-1} \frac{n}{(k+1)} \binom{n-1}{k} (x)_{k+1} \mathcal{P}_{n-1-k}, \\ \text{(v)} \quad & \mathcal{P}_n(x) = \sum_{k=0}^{\infty} \binom{x}{k} \frac{n!}{(n-k)!} \mathcal{P}_{n-k}, \\ \text{(vi)} \quad & \mathcal{P}_n(x) = \mathcal{P}_n(x+1) - n \mathcal{P}_{n-1}(x).\end{aligned}$$

Proof. (see (iii)). Let's consider the following expressions

$$(3.7) \quad \left(\frac{z}{e^{-z} - 1} \right) (1+z)^x = \sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!}$$

and

$$(3.8) \quad \left(\frac{z}{e^{-z} - 1} \right) (1+z)^y = \sum_{n=0}^{\infty} \mathcal{P}_n(y) \frac{z^n}{n!}.$$

Of (3.7) and (3.8), we have

$$\begin{aligned} \left[\frac{z}{e^{-z} - 1} \right]^2 (1+z)^{x+y} &= \left(\sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!} \right) \left(\sum_{n=0}^{\infty} \mathcal{P}_n(y) \frac{z^n}{n!} \right) \\ \left(\sum_{n=0}^{\infty} \mathcal{P}_n \frac{z^n}{n!} \right) \left(\sum_{n=0}^{\infty} \mathcal{P}_n(x+y) \frac{z^n}{n!} \right) &= \left(\sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!} \right) \left(\sum_{n=0}^{\infty} \mathcal{P}_n(y) \frac{z^n}{n!} \right) \\ \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} \mathcal{P}_{n-k} \mathcal{P}_k(x+y) \frac{z^n}{n!} &= \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} \mathcal{P}_{n-k}(x) \mathcal{P}_k(y) \frac{z^n}{n!} \\ \sum_{k=0}^n \binom{n}{k} \mathcal{P}_{n-k} \mathcal{P}_k(x+y) &= \sum_{k=0}^n \binom{n}{k} \mathcal{P}_{n-k}(x) \mathcal{P}_k(y). \end{aligned}$$

Therefore,

$$\sum_{k=0}^n \binom{n}{k} [\mathcal{P}_k(x+y) \mathcal{P}_{n-k} - \mathcal{P}_{n-k}(x) \mathcal{P}_k(y)] = 0.$$

□

Theorem 3.1 (Differential expressions). For $n \in \mathbb{N}$, let $\{\mathcal{P}_n(x)\}_{n \geq 0}$ be the sequences of U -Bernoulli Korobov-type discrete polynomials in the variable $x \in \mathbb{N}$, they satisfy the following relations

(1)

$$(n-1)\mathcal{P}_n(x) - n\psi(x; z) \frac{\partial}{\partial x} \mathcal{P}_{n-1}(x) = 0,$$

where

$$\psi(x; z) = \left[\frac{x}{(z+1)\log(z+1)} + \frac{e^{-z}}{(e^{-z}-1)\log(z+1)} \right],$$

(2)

$$\frac{\partial \mathcal{P}_n(x)}{\partial x} = \sum_{k=0}^{n-1} n \binom{n-1}{k} (-1)^k \frac{k!}{k+1} \mathcal{P}_{n-k-1}(x).$$

Proof. For the proof of (1). Consider the following equations

$$(3.9) \quad L(x; z) = \sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!},$$

$$(3.10) \quad L(x; z) = \frac{z}{e^{-z} - 1} (1+z)^x.$$

Partially differentiating with respect to z in (3.9) and (3.10), the result is

$$\frac{\partial L(x; z)}{\partial z} = \sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{nz^{n-1}}{n!}$$

and

$$(3.11) \quad \frac{\partial L(x; z)}{\partial z} = \frac{(1+z)^x}{e^{-z} - 1} + \left[\frac{z(1+z)^x}{e^{-z} - 1} \right] \frac{x}{1+z} + \left[\frac{z(1+z)^x}{e^{-z} - 1} \right] \frac{e^{-z}}{e^{-z} - 1}.$$

Partially differentiating with respect to x in (3.10), we have

$$\frac{\partial L(x; z)}{\partial x} = \frac{z \log(z+1)(1+z)^x}{e^{-z} - 1}.$$

Of (3.11), we have

$$\begin{aligned}
0 &= \frac{\partial L(x; z)}{\partial z} - \frac{(1+z)^x}{e^{-z}-1} - \left[\frac{z \log(z+1)(1+z)^x}{e^{-z}-1} \right] \frac{x}{(1+z) \log(z+1)} \\
&\quad - \left[\frac{z \log(z+1)(1+z)^x}{e^{-z}-1} \right] \frac{e^{-z}}{(e^{-z}-1) \log(z+1)} \\
0 &= \frac{z \partial L(x; z)}{\partial z} - \left[\frac{zx}{(1+z) \log(z+1)} + \frac{ze^{-z}}{(e^{-z}-1) \log(z+1)} \right] \frac{\partial L(x; z)}{\partial x} - \frac{z(1+z)^x}{e^{-z}-1} \\
0 &= \sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{nz^n}{n!} - \sum_{n=0}^{\infty} \left[\frac{x}{(1+z) \log(z+1)} + \frac{e^{-z}}{(e^{-z}-1) \log(z+1)} \right] \frac{\partial}{\partial x} \mathcal{P}_{n-1}(x) \frac{nz^n}{n!} \\
&\quad - \sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!} \\
0 &= (n-1) \mathcal{P}_n(x) - \left[\frac{x}{(1+z) \log(z+1)} + \frac{e^{-z}}{(e^{-z}-1) \log(z+1)} \right] n \frac{\partial}{\partial x} \mathcal{P}_{n-1}(x).
\end{aligned}$$

This completes the proof of (1).

For the proof of (2). Partially differentiating with respect to x in (3.1), we have

$$\begin{aligned}
\left(\frac{z}{e^{-z}-1} \right) \frac{\partial}{\partial x} [(1+z)^x] &= \sum_{n=0}^{\infty} \frac{\partial}{\partial x} \mathcal{P}_n(x) \frac{z^n}{n!} \\
\left(\sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!} \right) \left(\sum_{n=0}^{\infty} \frac{(-1)^n}{n+1} z^{n+1} \right) &= \sum_{n=0}^{\infty} \frac{\partial}{\partial x} \mathcal{P}_n(x) \frac{z^n}{n!} \\
\sum_{n=0}^{\infty} \sum_{k=0}^{n-1} \mathcal{P}_{n-1-k}(x) (-1)^k \binom{n-1}{k} \frac{k!}{(k+1)} n \frac{z^n}{n!} &= \sum_{n=0}^{\infty} \frac{\partial}{\partial x} \mathcal{P}_n(x) \frac{z^n}{n!}.
\end{aligned}$$

Comparing the coefficients of $\frac{z^n}{n!}$ in both sides of the equation, the result is

$$\frac{\partial}{\partial x} \mathcal{P}_n(x) = \sum_{k=0}^{n-1} n \binom{n-1}{k} (-1)^k \frac{k!}{k+1} \mathcal{P}_{n-k-1}(x).$$

□

4. ORTHOGONALITY RELATION OF THE U -BERNOULLI KOROBOV-TYPE DISCRETE POLYNOMIALS

In this section, we will present a comprehensive demonstration of the orthogonality relationship associated with the U -Bernoulli Korobov-type discrete polynomials.

Theorem 4.2. *The U -Bernoulli Korobov-type discrete polynomials $\mathcal{P}_n(x)$, fulfill the following orthogonality relation*

$$\int_0^{\infty} \mathcal{P}_m(x) \mathcal{P}_n(x) d\mu(x) = (-1)^{n-1} m! n \delta_{m,n},$$

where

$$d\mu(x) = \omega(x, \lambda_1, \sigma_1) dx = \frac{(1 - e^{\lambda_1})(1 - e^{\sigma_1}) e}{x!} dx,$$

with $x \in \mathbb{N}$, $z, v \in \mathbb{C}$, and $\lambda_1 \in \text{Re}(z)$, $\sigma_1 \in \text{Re}(v)$.

Proof. Let's consider the following equality

$$L(x, z) = \left(\frac{z}{e^{-z} - 1} \right) (1+z)^x = \sum_{n=0}^{\infty} \mathcal{P}_n(x) \frac{z^n}{n!}, \quad |z| < 2\pi.$$

Then

$$(4.12) \quad \begin{aligned} L(x, z) &= \left(\frac{z}{e^{-z} - 1} \right) (1+z)^x \\ &= \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{x}{k} \frac{\mathcal{P}_{n-k}}{(n-k)!} z^n \end{aligned}$$

$$(4.13) \quad L(x, z) = \sum_{n=0}^{\infty} L_n(x) z^n,$$

where we get

$$(4.14) \quad \begin{aligned} L_n(x) &= \sum_{k=0}^n \binom{x}{n} \frac{\mathcal{P}_{n-k}}{(n-k)!} \\ L_n(x) &= \sum_{k=0}^n \frac{1}{k!} (x(x-1)(x-2) \cdots (x-k+1)) \frac{\mathcal{P}_{n-k}}{(n-k)!}. \end{aligned}$$

Note that (4.14) is a polynomial of degree n and $L_n(x)$, which coincides with the so-called U -Bernoulli Korobov-type discrete polynomial.

On the other hand, let

$$(4.15) \quad \begin{aligned} L(x, v) &= f(v)g(x, v) \\ &= \left(\frac{v}{e^{-v} - 1} \right) (1+v)^x \\ &= \sum_{m=0}^{\infty} \sum_{k=0}^m \binom{x}{m} \frac{\mathcal{P}_{m-k}}{(m-k)!} v^m \end{aligned}$$

$$(4.16) \quad L(x, v) = \sum_{m=0}^{\infty} L_m(x) v^m,$$

where it is obtained

$$L_m(x) = \sum_{k=0}^m \binom{x}{m} \frac{\mathcal{P}_{m-k}}{(m-k)!}.$$

Considering the product of (4.12) and (4.15), we obtain

$$\begin{aligned} L(x, z)L(x, v) &= \left(\frac{z}{e^{-z} - 1} \right) (1+z)^x \left(\frac{v}{e^{-v} - 1} \right) (1+v)^x \\ &= \left[\frac{zve^{z+v}}{(1-e^z)(1-e^v)} \right] [(1+z)^x(1+v)^x] \end{aligned}$$

then,

$$L(x, z)L(x, v) = \left[\frac{zve^{z+v}}{(1-e^z)(1-e^v)} \right] [(1+z)(1+v)]^x.$$

For any $k = x$, we have

$$(-1)^k L(x, z) L(x, v) = \left[\frac{z v e^{z+v}}{(1-e^z)(1-e^v)} \right] [(-1)(1+z)(1+v)]^k.$$

Then,

$$\begin{aligned} \sum_{k=0}^{\infty} \frac{(-1)^k L(x, z) L(x, v)}{k!} &= \frac{z v e^{z+v}}{(1-e^z)(1-e^v)} \sum_{k=0}^{\infty} \frac{[-(1+z)(1+v)]^k}{k!} \\ &= \frac{z v e^{z+v}}{(1-e^z)(1-e^v)} e^{-(1+z)(1+v)} \\ &= \left[\frac{z v e^{-1}}{(1-e^z)(1-e^v)} \right] e^{-z v}. \end{aligned}$$

Therefore,

$$(4.17) \quad \sum_{n=0}^{\infty} \frac{(-1)^k L(x, z) L(x, v)}{k!} = \sum_{n=0}^{\infty} \left[\frac{z v e^{-1} (-1)^n}{(1-e^z)(1-e^v)} \right] \frac{z^n v^n}{n!},$$

from (4.13) and (4.16) on (4.17) left side we have

$$(4.18) \quad \sum_{k=0}^{\infty} \frac{(-1)^k L_m(k, z) L_n(k, v)}{k!} = \sum_{m, n=0}^{\infty} \sum_{k=0}^{\infty} L_m(k), L_n(k) \frac{(-1)^k}{k!} z^n v^m.$$

From (4.17) and (4.18) we get

$$(4.19) \quad \sum_{n=0}^{\infty} \left[\frac{z v e^{-1} (-1)^n}{(1-e^z)(1-e^v)} \right] \frac{z^n v^n}{n!} = \sum_{m, n=0}^{\infty} \sum_{k=0}^{\infty} L_m(k), L_n(k) \frac{(-1)^k}{k!} z^n v^m.$$

Which gives:

$$\begin{aligned} \sum_{n=0}^{\infty} \left[\frac{z v e^{-1} (-1)^n}{(1-e^z)(1-e^v)} \right] \frac{z^n v^n}{n!} &= \sum_{n=0}^{\infty} \left[\frac{e^{-1} (-1)^n}{(1-e^z)(1-e^v)} \right] \frac{z^{n+1} v^{n+1}}{n!} \\ &= \sum_{n=0}^{\infty} \left[\frac{e^{-1} (-1)^{n-1}}{(1-e^z)(1-e^v)} \right] \frac{n z^n v^n}{n!}. \end{aligned}$$

Therefore, in (4.19) we have

$$(4.20) \quad \sum_{n=0}^{\infty} \left[\frac{e^{-1} (-1)^{n-1}}{(1-e^z)(1-e^v)} \right] \frac{n z^n v^n}{n!} = \sum_{m, n=0}^{\infty} \sum_{k=0}^{\infty} L_m(k) L_n(k) \frac{(-1)^k}{k!} z^n v^m,$$

by comparing the coefficients in (4.20), one has

$$(4.21) \quad \sum_{k=0}^{\infty} L_m(x) L_n(x) \frac{(-1)^k}{k!} = \begin{cases} \frac{(-1)^{n-1} e^{-1}}{n!} \left[\frac{n}{(1-e^z)(1-e^v)} \right]; & \text{if } m = n. \\ 0; & \text{if } m \neq n. \end{cases}$$

In (4.21), we note that $\{L_n(x)\}_{n \geq 0}$, is a sequence of orthogonal polynomials with respect to the weight function $\frac{(-1)^k}{k!}$, $k = 0, 1, 2, \dots$

Remark 4.1. We define about (4.21) the functional \mathcal{L} as follows:

$$(4.22) \quad \mathcal{L} \left[L_m(x) L_n(x) \frac{(-1)^k}{k!} \right] = \frac{(-1)^{n-1}}{n!} e^{-1} \psi_n \delta_{m,n},$$

where

$$\psi_n = \frac{n}{(1-ez)(1-ev)}.$$

Therefore (4.22) can be expressed in terms of the Riemann-Stieltjes integral as follows.

$$(4.23) \quad \int_0^\infty L_m(x) L_n(x) \frac{(-1)^k}{k!} dx = \frac{(-1)^{n-1} e^{-1}}{n!} \psi_n \delta_{m,n}.$$

In (4.13) and (4.16), we have that,

$$L(x, z) = \sum_{n=0}^\infty L_n(x) z^n \quad \text{and} \quad L(x, v) = \sum_{m=0}^\infty L_m(x) v^m.$$

Therefore,

$$(4.24) \quad L_n(x) = \frac{P_n(x)}{n!} \quad \text{and} \quad L_m(x) = \frac{P_m(x)}{m!}.$$

Of (4.24) and (4.23) we obtain

$$(4.25) \quad \int_0^\infty \frac{P_m(x)}{m!} \frac{P_n(x)}{n!} d\lambda = \frac{(-1)^{n-1} e^{-1}}{n!} \psi_n \delta_{m,n},$$

where

$$d\lambda = \frac{(-1)^k}{k!} dx, \quad k = 0, 1, 2, \dots$$

$$(4.26) \quad \int_0^\infty P_m(x) P_n(x) d\mu(x) = (-1)^{n-1} m! \psi_n \delta_{m,n},$$

where $d\mu(x) = \frac{(-1)^x e}{x!} dx$.

□

REFERENCES

- [1] F. Avram, M.S. Taqqu: *Noncentral limit theorems and Appell polynomials*, Ann. Probab., **15** (1987), 767–775.
- [2] J. Babini: *Polinomios generalizados de Bernoulli y sus correlativos*, Rev. Mat. Hisp.-Am., **10** (4) (1935), 23–25.
- [3] L. Carlitz: *A note on Bernoulli and Euler polynomials of the second kind*, Scr. Math., **25** (1961), 323–330.
- [4] L. Carlitz: *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., **15** (1979), 51–88.
- [5] C. V. L. Charlier: *Über die darstellung willkürlicher funktionen*, Arkiv för Matematik, Astronomi och Fysik., **25** (3) (1970), 1–11.
- [6] A.G. Asensi, E. Labarga, E. J.M. Ceniceros and J. Varona: *Boole-Dunklpolynomials and generalizations*, Rev. Real Acad. Cienc. Exactas Fis. Nat. Ser. A-Mat., **118** (2024), Article ID: 16.
- [7] I. Gavrea, M. Ivan: *Approximation properties related to the Bell polynomials*, Constr. Math. Anal., **4** (2) (2021), 253–259.
- [8] R.L. Graham, D.E. Knuth, O. Patashnik, *Concrete Mathematics*, A Foundation for Computer Science, 2nd ed., Addison-Wesley, Reading, MA (1994).
- [9] C. Jordan: *Sur les polynomes analogues aux polynomes de Bernoulli et sur des formules de sommation analogues à celle de MacLaurin-Euler*, Acta Szeged, **4** (1929), 130–150.
- [10] V. Kostov: *The disconnectedness of certain sets defined after uni-variate polynomials*, Constr. Math. Anal., **5** (3) (2022), 119–133.

- [11] D.E. Knuth: Two notes on notation, *Am. Math. Mon.*, **99** (1992), 403–422.
- [12] Korobov: *Special polynomials and their applications diophantine approximations*, *Math. Notes*, **2** (1996), 77–89.
- [13] J. Meixner: *Orthogonale polynomsysteme mit einem besonderen Gestalt der erzeugenden funktion*, *J. London Math. Soc.*, **9** (1934), 6–13.
- [14] Y. Quintana, W. Ramírez and A. Urieles: *Euler matrices and their algebraic properties revisited*, *Appl. Math. Inf. Sci.*, **14** (4) (2020), 583–596.
- [15] W. Ramírez, D. Bedoya, A. Urieles, C. Cesarano and M. Ortega: *New U-Bernoulli, U-Euler and U-Genocchi Polynomials and Their Matrices*, *Carpathian Math. Publ.*, **15** (2) (2023), 449–467.
- [16] J. Rey Pastor: *Polinomios correlativos de los de Bernoulli*, *Bol. Semin. Mat. Argent.*, **1** (3) (1929) 1–10.
- [17] S. Zagorodnyuk: *On a Family of Hypergeometric Sobolev Orthogonal Polynomials on the Unit Circle*, *Constr. Math. Anal.*, **3** (2) (2020), 75–84.

WILLIAM RAMÍREZ
UNIVERSIDAD DE LA COSTA
DEPARTMENT OF NATURAL AND EXACT SCIENCES
CALLE 58, 55-66, 080002, BARRANQUILLA, COLOMBIA
UNI NETTUNO UNIVERSITY
SECTION OF MATHEMATICS
CORSO VITTORIO EMANUELE II, 39, 00186, ROME, ITALY
ORCID: 0000-0003-4675-0221
Email address: wramirez4@cuc.edu.co

URIELES ALEJANDRO
UNIVERSIDAD DEL ATLÁNTICO
PROGRAMA DE MATEMÁTICAS
KM 7 VÍA PTO. COLOMBIA, BARRANQUILLA, COLOMBIA
ORCID: 0000-0002-7186-0898
Email address: alejandrourieles@mail.uniatlantico.edu.co

CLEMENTE CESARANO
UNI NETTUNO UNIVERSITY
SECTION OF MATHEMATICS
CORSO VITTORIO EMANUELE II, 39, 00186 ROME, ITALY
ORCID: 0000-0002-1694-7907
Email address: c.cesarano@uninettunouniversity.net